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1 EO A B ## #BREN'T Ske X 11,100
2 RYT—EAVMELANL 30kg = 15,400
3 |BHRT—T TAKER W=30 m 25
4 |HP-VPEOLHRMTF ¢ 250 @ 10,500
5 [BLYYIUik= EhR A&E130 1@ 64,600
6 15LY Uvvk=l <{A7°0v%900 x 1200 1@ 180,000 AT &SHFED
7 15LY Uvvk=I TERR 900 x 1200 1@ 65,300
8 [1BLY Yk ZFI%&1)4°600 % 50 1@ 29,600
9 |fREV-H 13 400
10 |kK7I7EH $ 250 & T 840
11 |ikKk7I7EH $ 150 & 620
12 |ukKk7I7EH $ 200 & AT 730
13 |kK7I7EH $ 100 & AT 530
14 |HI17, 15vik—Il ta—LE ¢ 250 =l 5,535
15 |#I7 15vh-I 1EEE ¢ 100 Gl 3,570
16 |#IF 15— 1EEE ¢ 150 G 3,570
17 |#I7 15vwh-I 1EEE ¢ 250 G 4,790
18 |HIF, 25 IUh—Il t1—LE ¢ 250 &=l 7,105
19 |#I7 25vUik-Il BEE ¢ 250 G 6,045
20 (AL 15— 1EEE ¢200 G 4,120
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21 |HIR LY v ka=L"E $ 250 T 6,980
22 |HIFL LYV IBEE D100 AT 3,300
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